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(a+4)(a—4) b. (a+7)?
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4(a+3) d. (a—6)?
(a—4)(a=3) e. (2a+6)(a—6)
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(a+13)? a. (2a+8)?
(a —14)2 b. (a—8)(a—2)
(a+13)(a—14) c. 2ala—-8)+ala-2)
(a—13)(3a+13) d. (20 -8)(2a+8)
(13a — 14)(14a + 13) e. (2a+4)(a+2)

40
(a—17)(a +4) a. (a+21)?
(a —17)? b. (a+21)(a—12)
(a+17)(a - 4) c. (21a-12)(21la+12)
(4a —17)(4a +17) d. (a-12)?
(4a +17)(17a — 4) e. (122 -21)(a+12)
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(a>—4)(a® +2a+1) a. (a2+2a+1)(a2-2a+1)
(a—2)(a+2)(a+1)? b. (a+1)2a-1)?
((a=1)(a+1)) ¢ (a®-1)7

(42 + 242 +9)(a® - 1) d. (2a+3)%(2a-3)?
(a—1)(a+1)(2a +3)? e. (a+1)*
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(3a—-7)(3a+7) - (3a —7)?
32(3a+7)—7a(3a +7)

(9a +2)% — (a% - 2)(a% + 2)
(@ +2)(a® +3) — (a® - 2)?
(@2 - 1)(a® + 1) + (a® +1)2

2a(a +1)? — 3a(a + 3)?

—ala +2)(a—2) +ala+2)?

2a(a+2)(a+3)—
3a(a-2)(a-3)

d. 5ala—5)2+25(a+5)(a-5)

a(a+3)(a-1)-
(a® +1)(a®-3)



Antwoorden

4.23
4.24
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4.26

a. 6a+15 b. 400 —16 c. —15a+10 d. —60a+12 e. —49a — 42
a. 20> —10a b. 14a®> +84a c. —117a> +65a d. 64a*> —120a e. —63a*> —189a
a. 203 +18a b. 12a% —21a%> c. —10a* —20a%> d. 9a* +18a% e. —3a% + 124>
a. 12a* +8a% 41242 b. —6a® — 15a* +3a3 c. 14a® + 21a* — 4243

d. —72a% — 24a* + 1243 — 124 e. —15a® — 5a* + 1042
427 a. 6a+8b b. —10a +25b c. 2a® +4ab d. —64a% +96ab e. —176a> + 242ab

4.28

a. 27a%2 +15ab —36a b. 1443 —124%b c. —56a° — 32a%b + 842

d. —1243 +124%b +124% e. —169a3 — 156ab + 1824

4.29

a. 6a* +4a’b —6a% b. —10a° —5a* +10a3b c. 6a%b? + 4b*

d. —8a° +20a3b? — 84%b e. —196a%b3 — 28ab3 + 70b°

430 a. 2a* +6a3h b. —15a* — 10a3b + 15a%b> c. 6a® + 4a’b? — 2a3D?

d. —6a” — 6a°b* — 6a°b? e. —49a° +21a°b — 28a*1?

431 a. 2a3b + 4a%b?> — 2ab® b. 15a°b* — 10a%b® 4 30ab* c. 12a°b> — 30a%b> — 6ab*
d. 144a*b* — 724303 + 1444%b% e. 124303 + 544203 — 6a%b*

432 a. —5a°b° +2a°b* — a*b° b. a°b° + a*b* + 14423
c. —15a’b7 —90a°® + 154°17

d. —13a70° + 124707 — 9417 e. —49a°b? — 49a3b* — 7421

4.33

a. 202 +81—8 b. —12a2—-22a—6 c. —9a d. —8a® +66a — 10

e. 10a2—-15a—5 f. —2a%> —3a+1

4.34

d. —

a. 3a2+8ab—2b b. —a?+b c. 4a% +4ab—2b> —2a+2b

202 —2b% +6a —3b e. 5a® +30ab — 2b% + 2a%b?



443 a. (a+3)(b+3) b. (a—2)(b—1) c. (2a+7)(b+4)

d. (a®>+2)2b—1) e. (a—1)(b—-2)

444 a. a(a—-1)(b+1) b. 6(a+2)(2b+1) c. —2(a—2)(b—-1)

d. a’(a—1)(4b+3) e. —3a(2a+3)(2b+3)

445 a. (a+4)(b+1) b. 2b(2a—1) c. (Ba+2)(2b—1)

d. 2a+1)(a+3) e (a+2)(a+1)

446 a. 2(a+5)(a+3) b. (a+1)(a+3)(b+1) c —3(a—1)(a+2)

d. 12(a—1)(a+2)(a—2) e. 4(a+1)(a+4)?

447 a. a®>+4a+3 b. 2a>+9a+9 c 3a>—-17a—6 d. 20a*> —9a — 20
e. 6a>+3a—45 f. 24a% +12a — 120

448 a. —24a®> +73a—24 b. 56a® +19a — 132 c. 17a* —288a — 17
d. 64 — 6a — 36

e. ab—5a+3b—15 f. 6ab+ 10a + 24b + 40

449 a. —4ab+4a+b—-1 b. —3ab+9a+b—3 c. 156ab —169a + 144b — 156
d. a®—4a°+4a-16 e. a®—a*+7a—7 f. a*+12a%2+27

450 a. 20> +14a®> —7a—49 b. 6a* — 132> +6 c. 2a* +3a° —24°

d. —6a* +23a% —20a> e. —6a* —6a® +5a> +5a f. 18a* — 494> — 494>

451 a. —24a* +55a% +24a®> b. —10a° +13a%® —4a c. —a® +a°

d. 54a” +18a% —30a° — 10a* e. 56a® — 35a* — 8a® +5a f. 2448 + 384”7 4 15a°
452 a. 6a?b? —2ab? +3a%b —ab b. 6a3b3 —9a3b2 + 2a2b3 — 3a2b?

c. —4a%b* +10a%0® — 6a30% d. —32a°b° — 16a*b* + 244310 + 124°D°

e. —aBb® + 24010 — %12 £ 243 4742 + 20— 6

453 a. —12a% +11a®> —5a+2 b. 2a* +3ab + 8a + b*> + 4b

c. —9a® +18ab +9a —9b*> —9b d. 18a%> — 81ab + 13a — 18b +2

e. a*+a f 6a°+10a2+a-2

454 a. 2a° +7a*+1la+4 b. a>—b*—a—b

c. a*+ab—abP—-1* d. a®+6a2+11a+6

e. a>—2a2—5a+6 f 4a°+4a*>—-51-3

455 a. 4a® —4a%b —ab®> +b> b. 60a° — 133a%b + 98ab? — 2413



c. —3a*+6a>—-94°>+18a d. 3a®>+5a> —11a+3

e. 2a% +2a* —4a% f. a*b® + aPb* + a*b? — a?b* — aPb? — 2?3

456 a. 6a°b+ 6a*b> — 6a°b> — 6a?b* b. a* +2a% +a+2

c. a*+a®+a>+3a+2 d. —6a*+13a° —a®> —5a—1

e. 3a° — 6a* +15a3 — 64 +12a f. 10a® + ab — 21a — 2b +12b — 10

51 a. a2+12a+36 b. a> —4a+4 c. a®>+22a+121 d. a*> —18a+81

e. a>+2a+1

52 a. b>+10b+25 b. b*> —24b+144 c. b*>+26b+169 d. b*> —14b +49

e. b2 +16b + 64

53 a. a?+28a+196 b. b>—10b+25 c. a®>—30a+225 d. b*>+4b+4

e. a?> —20a + 100

54 a. 4a®> +20a+25 b. 92> —36a+36 c. 121a> +44a+4 d. 16a*> —72a + 81
e. 1694 + 364a + 196

55 a. 2562 +20b+4 b. 4a?> —12a+9 c. 81b2 +126b+49 d. 16a? —24a +9
e. 64b% +16b + 1

5.6 a. 4a% +20ab + 25b% b. 9a® — 78ab + 169b% c. a? + 4ab + 4b>
d. 44?2 — 4ab + b2

e. 36a® + 84ab + 49b?

5.7 a. 144a® —120ab + 25b*> b. 4a® —4ab +b*> c. 494> — 70ab + 25b>

d. 196a> —84a+9 e. a® + 22ab + 12112

58 a. a*+10a>+25 b. a* —6a>+9 c. b* —20*+1 d. a®+4a® +4
e. b —14b* +49

59 a. 4a® +28ab +49b% b. 9a® +48ab + 64b> c. 25a® —90ab + 81b>

d. 494 — 112ab + 64b> e. 36a* —132ab + 12112

510 a. a*+6a>+9 b. b* —8b*>+16 c. 4a® —524%3 +169 d. 25b* + 1406 + 196
e. 144a° +120a3 + 25

511 a. 4a* —12a%b +9b> b. 9a* + 12a%b + 4b*> c. 81a* — 90a’b?* + 25b>
d. 144a° + 48a31% + 4b* e. 400a* — 2404203 + 36b°

512 a. 5a>+10a+10 b. —18a+9 c. 52> +6a —8 d. 5a* + 8ab + 5b°
e. —32a* — 32b*



525 a. a>—4 b. a>—49 c. a*>—9 d. a>—144 e. a*—121

526 a. 4a> —25 b. 92> —1 c. 16a> -9 d. 81a*> — 144 e. 1694% — 196

527 a. 36a> —81 b. 225a> —1 c. 492> — 64 d. 256a> —25 e. 441a% — 625
528 a. a*—25 b. a* —81 c. 4a* -9 d. 36a* —25 e. 8la* —121

529 a. a®—16 b. al®—100 c. 81a* —4 d. 121a® -9 e. 144a'% — 169

530 a. 4a*> —9b%> b. 36a% —100b%> c. 81a®> —4b*> d. 494> — 25b% e. a® — 400b?
531 a. a*—b* b. 4a* — 9% c. 25a* —9b* d. 36a* —121b* e. 169a* — 225p*
532 a. a® —4b* b. 4a* —810° c. 2548 — 9K d. 49a* — 36118 e. 225410 — 6418

5.33 a. 4a%b? — % b. 9a*b? —4c? c. 25a%b* — c* d. 81a4%b* —16¢*
e. 324a°b* — 49.°

534 a. 4a* —9b%c* b. 49a°0% — 64c® c. 169a100° —196c10 d. 25a%h%c* — 1

e. 81a*b?c® —49

535 a. a*+81+16 b. a?—16 c. a*+7a+12 d. 4a+12 e. a>—a—12

536 a.a2—a—42 b. a2 +14a+49 c. a>—-36 d. a?—12a+36

e. 2a% — 6a — 36

537 a. a>+26a+169 b. a®>—28a+196 c. a®> —a—182 d. 3a* —26a — 169

e. 182a% —27a — 182

538 a. 40> +32a+64 b. a>—10a+16 c. 32> —18a d. 42> —64 e. 22> +81+8
539 a. a>—13a—68 b. a> —34a+289 c. a®>+13a —68 d. 16a> — 289

e. 68a% +273a — 68

540 a. a® +42a+441 b. a®>49a —252 c. 441a%> — 144 d. a* —24a + 144
e. 12a% 4+ 123a — 252

541 a. a* 424> —3a>—-81—4 b. a*+2a° —302—8a—4 c. a*—24%>+1
d. 4a* +2443 + 542 — 240 -9 e. 4a* +12a° +5a%> — 124 — 9

542 a. a*—242+1 b. a* =222 +1 c. a*—242+1 d. 16a* —724% + 81



e. a*+4a3 +6a%2 +4a+1
543 a. a*—1 b. 8% —18a c. a* —16 d. 54a® —244* e. 24° —1250a

545 a. 2a>+12a+26 b. 22> —2a—24 c. 12a d. 6a> —81—6 e. 10a—2

546 a. 42a—98 b. —12a* —28a c. —a* +81a®> +36a+8 d. 9a*>+2 e. 2a* +24°
547 a. a*—5a>+4 b. a* —41a*> +400 c. a® —5a*+4 d. a®+44a*>+5a+2

e. a° +6a%+12a +8

548 a. —a® —14a® —25a b. 4a2+8a c. —a® +25a% —6a

d. 5a% —25a% 41250 — 625 e. 22 —a? +3



